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P(B| A)=P(AnB)/P(A)
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P(A,B)=P(A) XP(B|A)
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Lift=P (B|A)/P(B) =P (B,A)/(P(A) XP(B))
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- BIRIEZE:P(A)=20/100=1/5

o EH{ftEREEP(B| A)=(10/100) /(20/100) =1/2

- BEIEFER P(AB)=1/10
« ERHIHESE P(B)=40/100=2/5
. WEE.Lift=(1/2)/(2/5)==5




tenki.csviDFRBIZ R DT UEZ TAH LD




> setwd("../Dropbox/Share/DL02045/Program/chap5")

> library(arules)

> data<-read.csv("tenki.csv",header=TRUE,row.names=1,colClasses="factor")
> data.trans<-as(data,"transactions")

> itemFrequency(data.trans)

> itemFrequencyPlot(data.trans,ylim=c(0,1),cex.names=0.7)

MacF DT —%[&"tenkimac.csv”
colClasses=“factor” : T—3NmAHIAHFREZX LTS
cex.names: EASANJLD X FDEER
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options(digits=3)
sunnyRuIe=apriori(data.trans,Iist(maxIen=5,supp=0.05,conf=0.65,ext=TRUE),Iist(rhs="%’l HX
K =RE",default="lhs")) <day=sunny

inspect(SORT(sunnyRule,”support”)[1:10,])
inspect(SORT(sunnyRule,”confidence”)[1:10,])

sunnyRuleOfl=subset(sunnyRule,lhs %in% “ H=1")
MsunnyRulelZHE W TIhs B =1DHLDEHH

Inspect(sunnyRuleOf1)

rhs=“ Y HXG=F: IL—ILRTAZHRET S
Default="lhs” :rhs CEREL-IHE B LIS ZFIL—ILANYRIZERTE



lhs rhs support confidence lhs.support lift
1 {ATAXRR =M} =>{HAXK-=M5]} 0.3678 0.683 0.5386 1.27
2 {HTAX&=HF,

BIR BRS=0F}=>{HBXK=} 0.2613 0.711 0.36761.32

3 {RTHX&=HF,
=HRIX&=ME}=>{HBXK=ME} 0.2355 0.716 0.32881.33

4 {RTEB XS =M,
—ERIR&=[F}=> {HBEXK=MF} 0.2226 0.706 0.31541.31

5 (AT X&=F,

AR B X S=H,
=HRIX&=F}=>{HBEXK=ME} 0.1930 0.739 0.26101.37
6 {ATHX&=F,
AR B X %=H,
—BRIR&S=[F]) => {(HBX%=05) 0.1628 0.733 0.22211.36
7 {(RTEBX&=HF,
= BHRIX%=HF,
—EBRIXT=MF)=> {Z¥HXS=FE} 0.1537 0.742 0.20721.38
8 {AIR BXR=HF,
= BHRIX%=HF,
—BRIRS=MF)=> {Z¥HXS=FE} 0.1529 0.691 0.22121.28
9 {RIH XK =HF,
IR B X &=H,
= HEIXR % =M,
—EBBIRS=MF)=> {HZHXK=F} 0.1271 0.762 0.1669 1.41
10 {H =12} => M HEXS=E) 0.0681 0.800 0.0851 1.49



lhs rhs support confidence |hs.support lift
1 {A=12,
Al B X==0F,
AR BR&S=F}=> {LHXK=M) 00505 0.885 0.05711.64
2 {A=12,
BTEXR=F] = {HBX%=M) 0.0582 0.862 0.0675 1.60
3 {A=12,
AR BXRR=MF}=> {ZBHX%=ME) 0.0560 0.840 0.0667 1.56
4 {A=12,
=HEIRZ=ME}=> {H¥BHXX=M) 0.0544 0.828 0.0656 1.54
5 {A=12,
—ERIR&=ME}=> {(H¥BHXX =} 0.0535 0.812 0.06591.51
6 {A=12} = {H HXX =} 0.0681 0.800 0.08511.49
7 {(BTEH XK =05,
g1 R B X K=HE,
= BEIR%-=M,
—ERIR&Z=[E}=> {HBEXK=M} 0.1271 0.762 0.1669 1.41
8 {RIH XK =HF,
= BHEIX%-=M,
—EFIRR =05} => {H¥HXK=F} 0.1537 0.742 0.20721.38
9 {RIH XK =HF,
g1 R B X K=H5,
= HaIRR=ME}=>{HHXZ=E} 0.1930 0.739 0.26101.37
10 {B1 H XK =hF,
B B X E5=%
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